Efficiency vs P,

10.05
o
9.045
>
20.04
@
2.035F
o c
0.03
0.025
0.02F
0.015

001+ presieeeenene SRS e

0.005

.................................................

.................................................

—=— DOQM_T |_or|g|n§l_|owrn
—e— DOQM_TT newbranch_lowpt

—— DQM_TT original_lowpt_pLess
—— DOM_TT newbranch_lowpt _plLess

—0.05¢
)
.045
e
50.04
Q n
§9.035F
] o
0.03f
0.025F
0.02F
0.015E
0.02 -t

0.005f -1+ b g T Pl

Ratio

0.9
0.8 -

0.7!

Efficiency vs ¢

=0.02
(2]
§.018
) E
9.016F
‘© [
§9.0144-
[J]

0.012

0.008}: -
0.006
0.004
0.002F

ST TR N
S

..........................................

.............................

o J-G-:-I PR
= H+
© 1B
©E Tl T LT
0‘95-5-"..- B A-H-FE- H e e P -- 1L
osBfTIH S b (T T
I 5

0.7k

TP @



	Contents
	Page 1


